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(Vz € R) : sin®(x) + cos?(x) = 1 |
!
1 I
cos? @ = P Y
Vo # ~ + kn/k €7 : 1+ tan*(@) =
2 @ tan®(x) <
sin“(@) = ————— g
1 + tan?(@) i
I =
T sin(x)
‘v’a:GIR\{—+k:7r/k€Z} :  tan(@) =
2 cos(x)
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r |01 § 1% |3 2 (3-9a) (r—0a) | (F+a) (r+a)
sin(x) | 0 % g % 1 sin | cos(@) sin(q) cos(a) — sin(@)
cos(z) | 1 ? % 1 0 cos | sin(@) —cos(@) | —sin(@ | — cos(a)
tan(x) | O ? 1 | V3| @2yae ,é tan ﬁ — tan(o) ﬁ tan (o)
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T — sin(z) oot At T — cos(r) pl—edl co> A

Ve eR: —1 < cos(z) <1

Ve e R: —1 <sin(z) <1
Ve € R: sin(—x) = — sin(x) Vx € R: cos(—z) = cos(x)

Vk € Z : sin(x + 2kw) = sin(x) Vk € Z : cos(x + 2kw) = cos(x)

Vk € Z : sin(z + kw) = (—1)*sin(z) Vk € Z : cos(x + k) = (—1)* cos(x)

Vn € N: sin(nf) = (-1)" Vn € N: cos(nw) = (—1)"
r=«a+ 2kw r=aoa+ 2kw
sin(z) = sin(a) <= sk €7 cos(z) = cos(a) < sk € Z
r=m— o+ 2kw r=—a+ 2kw

e ol A OV _ae e ol A OYAl a2

sin(z) = 1 — =735 +2kr, keZ cos(z) =1 <~ x=2kmw, kcZ

sin(z) =0 <~— = =km, keZ cos(z) =0 = =z =7 +km, keZ

sin(z) = -1 <= z=-%+2kr, kcZ cos(z) =—1 < z=x=n+4+2kmr, keEZ
¢ 3 s S 9T fio gs Vo BA s

cos(a + b) = cos(a) cos(b) — sin(a) sin(b)

sin(a 4 b) = sin(a) cos(b) + cos(a) sin(b)
cos(a — b) = cos(a) cos(b) + sin(a) sin(b)

sin(a — b) = sin(a) cos(b) — cos(a) sin(b)

sin(2a) = 2sin(a) cos(a) cos(2a) = cos?(a) — sin*(a)

) e u ) . = 2cos?(a) — 1 ) .
sin(a) = 2sin (§)cos(3) || = =1 — 2sin*(a) o
sin2(a) — 1—0025(20) cos2(a) _ 1+cozs(2a)
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sin(p) + sin(qg) = 2sin <p+q> cos (p—;q) cos(p) + cos(g) = 2cos ( ) ( )
sin(p) — sin(q) = 2 cos (p+q) sin (p—;q) cos(p) — cos(q) = —2sin +q) sin (%)
s sl Ja g 9 sl g
sin(a) sin(b) = [cos (a + b) — cos (a — b)] cos(a) cos(b) = 3 [cos (a + b) + cos (a — b)]

x — tan(x)  J—Iatl AT

Ya Ve € R\ {3 + kr|lk € Z} : tan(—zx) = — tan(x)
(cgt ) Vk € Z, tan(x 4+ kw) = tan(x)
an
tan(z) =tan(a) <= x=a+km, ke€Z
tan(a +b) = S tan ()
720 T V2 W G| B VS e 4
tan(2a) = 2ond)s | tan?(a) = 1yes2a)
tan(a) + tan(b) = %
tan(a) — tan(b) = St
cos(a) = 2 bsi = VaZ¥p a b .
Var o2 . acos(x) + bsin(z) = a’?+b Vi cos(x) + T sin(x)
. _ b e et
) = /a2 +b2 = +/a? + b?cos(z — a)

Document traité par WTEX 77 0 2 dmanll www.riyadiyat.net


www.riyadiyat.net



